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DU LLB

Topic:- DU_J18_LLB_Topic01

 
According to the passage, assertion of rights ______. [Question ID = 1808]

1. is frowned upon [Option ID = 7229]
2. must be discouraged [Option ID = 7233]
3. promotes just social policies [Option ID = 7235]
4. is desirable [Option ID = 7231]

Correct Answer :-
promotes just social policies [Option ID = 7235]
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Which of the following statements best conveys the idea of the passage?

 1. Civil and political rights and social and economic rights are opposed to each other.
 2. Political freedom must be compromised to realize rights.

 3. Existence of criticism of government is a proof of vibrant assertion of civil and political rights.
 4. Transparency ensures equitable distribution of resources.

  
Choose the correct code: [Question ID = 1810]

1. 2 and 4 [Option ID = 7241]
2. 1 and 2 [Option ID = 7238]
3. 1 and 3 [Option ID = 7240]
4. 3 and 4 [Option ID = 7243]

Correct Answer :-
3 and 4 [Option ID = 7243]
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According to the passage capture of social benefits ______. [Question ID = 1805]

1. ensures accountability [Option ID = 7220]
2. must be discouraged to ensure equitable distribution of resources [Option ID = 7218]
3. is an evil necessity [Option ID = 7214]
4. should be encouraged to maintain free flow of information [Option ID = 7215]

Correct Answer :-
must be discouraged to ensure equitable distribution of resources [Option ID = 7218]
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Opacity means: [Question ID = 1806]

1. Ostensible [Option ID = 7227]
2. Transparent [Option ID = 7223]
3. Unclear [Option ID = 7225]
4. Opal like [Option ID = 7221]

Correct Answer :-
Unclear [Option ID = 7225]

Topic:- DU_J18_LLB_Topic02

A is the mother of D and sister of B. B has a daughter C who is married to F. G is the husband of A. How is G related to D? [Question ID
= 1890]

1. Son [Option ID = 7559]
2. Father [Option ID = 7560]
3. Uncle [Option ID = 7557]
4. Husband [Option ID = 7558]

Correct Answer :-
Father [Option ID = 7560]

If the price of a book is first decreased by 25% and then increased by 20%, then the net change in the price will be: [Question ID =
1911]

1. 30 [Option ID = 7643]
2. 20 [Option ID = 7642]
3. 10 [Option ID = 7641]
4. 40 [Option ID = 7644]

Correct Answer :-
10 [Option ID = 7641]

Which among the following is correctly matched?

[Question ID = 1887]
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1. Indian Law Institute                                        Bhopal [Option ID = 7546]
2. Central Institute of Indian Languages            Chandigarh [Option ID = 7548]
3. Film and Television Institute of India               Chennai [Option ID = 7547]
4. National Insurance Academy                           Pune [Option ID = 7545]

Correct Answer :-
National Insurance Academy                           Pune [Option ID = 7545]

Which among the following languages was added to the Eighth Schedule of the Constitution of India, 1950 through 92nd Amendment
Act of 2003?

[Question ID = 1919]

1. Manipuri [Option ID = 7676]
2. Nepali [Option ID = 7674]
3. Maithili [Option ID = 7675]
4. Konkani [Option ID = 7673]

Correct Answer :-
Maithili [Option ID = 7675]

Britishers established Fort St. George as a trading outpost of East India Company in- [Question ID = 1871]

1. Varanasi [Option ID = 7482]
2. Chandigarh [Option ID = 7483]
3. Chennai [Option ID = 7484]
4. Jaipur [Option ID = 7481]

Correct Answer :-
Chennai [Option ID = 7484]

Which among the following cities does not have a bench of the National Green Tribunal? [Question ID = 1921]

1. Ahmedabad [Option ID = 7683]
2. Chennai [Option ID = 7681]
3. Pune [Option ID = 7684]
4. Kolkata [Option ID = 7682]

Correct Answer :-
Ahmedabad [Option ID = 7683]

Which among the following was chosen as the Oxford Dictionaries Word of the Year in 2017? [Question ID = 1888]

1. Vape [Option ID = 7551]
2. Post-truth [Option ID = 7552]
3. Emoji [Option ID = 7549]
4. Youthquake [Option ID = 7550]

Correct Answer :-
Youthquake [Option ID = 7550]

Which amongst the following is a committee constituted to inquire into allegations of corruption in Indian Premier League? [Question
ID = 1927]

1. Satyajit Ray Committee [Option ID = 7707]
2. Shyam Benegal Committee [Option ID = 7708]
3. Justice Mukul Mudgal Committee [Option ID = 7706]
4. Justice Khosla Committee [Option ID = 7705]

Correct Answer :-
Justice Mukul Mudgal Committee [Option ID = 7706]

In India, the National Voter’s Day is celebrated on

[Question ID = 1879]

1. 25th December [Option ID = 7513]
2. 25th January [Option ID = 7516]
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3. 17th March [Option ID = 7514]
4. 17th January [Option ID = 7515]

Correct Answer :-
25th January [Option ID = 7516]

If A >B, B>C and C>D, then which of the following conclusions is definitely wrong?

[Question ID = 1910]

1. D< A [Option ID = 7638]
2. C< B [Option ID = 7640]
3. A< D [Option ID = 7639]
4. B< A [Option ID = 7637]

Correct Answer :-
A< D [Option ID = 7639]

Who won the Gold Medal for India in the Women’s 10 metre air pistol event at the XXI Commonwealth Games, 2018? [Question ID =
1867]

1. Manika Batra [Option ID = 7467]
2. Punam Yadav [Option ID = 7466]
3. Pooja Sahasrabudhe [Option ID = 7468]
4. Manu Bhaker [Option ID = 7465]

Correct Answer :-
Manu Bhaker [Option ID = 7465]

In a class of 45 students, one of the student ranks 20th. When two more students take admission then his rank gets one place down.
What is his position from the bottom?

[Question ID = 1892]

1. 28 [Option ID = 7568]
2. 26 [Option ID = 7567]
3. 25 [Option ID = 7566]
4. 27 [Option ID = 7565]

Correct Answer :-
27 [Option ID = 7565]

Which Schedule of the Constitution of India, 1950 prescribes the forms of oaths or affirmations for constitutional functionaries?
[Question ID = 1923]

1. Sixth Schedule [Option ID = 7690]
2. Second Schedule [Option ID = 7691]
3. Fifth Schedule [Option ID = 7689]
4. Third Schedule [Option ID = 7692]

Correct Answer :-
Third Schedule [Option ID = 7692]

Which provision of the Constitution of India, 1950 deals with legislative powers of the President? [Question ID = 1935]

1. Article 123 [Option ID = 7739]
2. Article 73 [Option ID = 7738]
3. Article 139 [Option ID = 7740]
4. Article 59 [Option ID = 7737]

Correct Answer :-
Article 123 [Option ID = 7739]

Which provision of the Constitution of India prohibits employment of children below the age of fourteen years to be employed in
factories? [Question ID = 1933]

1. Article 23 [Option ID = 7730]
2. Article 17 [Option ID = 7729]

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.F
irs

tR
an

ke
r.c

om

16)  

17)  

18)  

19)  

20)  

21)  

3. Article 27 [Option ID = 7732]
4. Article 24 [Option ID = 7731]

Correct Answer :-
Article 24 [Option ID = 7731]

Who among the following is the current member of the International Law Commission from India? [Question ID = 1872]

1. Nagender Singh [Option ID = 7485]
2. P.S. Rao [Option ID = 7486]
3. Aniruddha Rajput [Option ID = 7488]
4. Dalbir Bhandari [Option ID = 7487]

Correct Answer :-
Aniruddha Rajput [Option ID = 7488]

The product of the ages of X and Y is 240. If twice the age of Y is more that X’s age by 4 years, what is the age of Y? [Question ID =
1894]

1. 18 [Option ID = 7575]
2. None of these [Option ID = 7576]
3. 12 [Option ID = 7573]
4. 16 [Option ID = 7574]

Correct Answer :-
12 [Option ID = 7573]

Two numbers are in the ratio of 3:7. If 5 is subtracted from the numbers, the ratio becomes 4:11. The numbers are: [Question ID =
1908]

1. 18,42 [Option ID = 7629]
2. 12,28 [Option ID = 7630]
3. 9,16 [Option ID = 7632]
4. 21,49 [Option ID = 7631]

Correct Answer :-
21,49 [Option ID = 7631]

"Do unto others as you would have them do unto you" means [Question ID = 1853]

1. People tend to want whatever they don't have. [Option ID = 7411]
2. Don't do mean things to people. [Option ID = 7409]
3. If someone offers you a gift, don't question it. [Option ID = 7412]
4. Don't trust other people to do important things for you. [Option ID = 7410]

Correct Answer :-
Don't do mean things to people. [Option ID = 7409]

Who headed the group of experts on Privacy constituted by the Planning Commission? [Question ID = 1941]

1. Justice Arijit Pasayat [Option ID = 7761]
2. Justice M.B. Shah [Option ID = 7762]
3. Justice M.N. Venkatachalia [Option ID = 7764]
4. Justice A.P. Shah [Option ID = 7763]

Correct Answer :-
Justice A.P. Shah [Option ID = 7763]

Who amongst the following judges of the Supreme Court of India never served as a High Court judge?

[Question ID = 1865]

1. Justice A.M. Khanwilkar [Option ID = 7458]
2. Justice Uday Umesh Lalit [Option ID = 7459]
3. Justice Kurian Joseph [Option ID = 7460]
4. Justice Abhay Manohar Sapre [Option ID = 7457]

Correct Answer :-
Justice Uday Umesh Lalit [Option ID = 7459]

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.F
irs

tR
an

ke
r.c

om

22)  

23)  

24)  

25)  

26)  

27)  

28)  

In which of the following judgments did the Supreme Court of India set aside the practice of talaq-e-biddat i.e., triple talaq?

[Question ID = 1934]

1. Fazlunbi v. K. KhaderVali [Option ID = 7736]
2. Mohd. Ahmed Khan v. Shah Bano Begum [Option ID = 7733]
3. Bai Tahira v. Ali Hussain Fissali Chothia [Option ID = 7735]
4. Shayara Bano v. Union of India [Option ID = 7734]

Correct Answer :-
Shayara Bano v. Union of India [Option ID = 7734]

The name of the largest river island of the world located in India is [Question ID = 1881]

1. Cijuli [Option ID = 7523]
2. Pajuli [Option ID = 7524]
3. Khajuli [Option ID = 7522]
4. Majuli [Option ID = 7521]

Correct Answer :-
Majuli [Option ID = 7521]

In which state the Sasan Ultra Mega Power Project is located? [Question ID = 1878]

1. Tamil Nadu [Option ID = 7511]
2. Uttar Pradesh [Option ID = 7509]
3. Madhya Pradesh [Option ID = 7512]
4. Maharashtra [Option ID = 7510]

Correct Answer :-
Madhya Pradesh [Option ID = 7512]

Identify the correct statement: [Question ID = 1926]

1. Only taking of dowry is prohibited under law. [Option ID = 7703]
2. Only giving of dowry is prohibited under law. [Option ID = 7702]
3. Dowry is legally allowed with the consent of involved parties. [Option ID = 7704]
4. Giving as well as taking dowry is prohibited under law. [Option ID = 7701]

Correct Answer :-
Giving as well as taking dowry is prohibited under law. [Option ID = 7701]

The recently launched ‘LaQshya’ programme is aimed at [Question ID = 1883]

1. Reducing malnutrition in children below ten years of age [Option ID = 7531]
2. Reducing maternal mortality rates [Option ID = 7530]
3. Elimination of tuberculosis by 2025 [Option ID = 7532]
4. Improving quality of life in rural areas [Option ID = 7529]

Correct Answer :-
Reducing maternal mortality rates [Option ID = 7530]

X is wife of Y. Y is uncle of Z. B is sister of Y. How is B related to X? [Question ID = 1891]

1. Sister-in-Law [Option ID = 7561]
2. Cousin [Option ID = 7564]
3. Brother [Option ID = 7563]
4. Uncle [Option ID = 7562]

Correct Answer :-
Sister-in-Law [Option ID = 7561]

A judge of the Supreme Court of India after retirement can practice in [Question ID = 1940]

1. None of the these [Option ID = 7760]
2. High Court [Option ID = 7759]
3. National Green Tribunal [Option ID = 7758]
4. Supreme Court of India only [Option ID = 7757]
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Correct Answer :-
None of the these [Option ID = 7760]

Four tests—French, Hindi, English and Sanskrit are to be conducted on four consecutive days, not necessarily in the same order. The
English test is held before the test which is conducted after Hindi. Sanskrit test is conducted exactly after two tests are held. Which is the
last test held? [Question ID = 1912]

1. French [Option ID = 7648]
2. Sanskrit [Option ID = 7647]
3. Hindi [Option ID = 7646]
4. English [Option ID = 7645]

Correct Answer :-
French [Option ID = 7648]

The headquarters of the World Trade Organization is located in [Question ID = 1922]

1. Geneva [Option ID = 7687]
2. London [Option ID = 7686]
3. New York [Option ID = 7685]
4. Nairobi [Option ID = 7688]

Correct Answer :-
Geneva [Option ID = 7687]

First UNESCO mixed heritage site of India is [Question ID = 1877]

1. Kangchendzonga National Park [Option ID = 7505]
2. Kaziranga National Park [Option ID = 7506]
3. Dachigam National Park [Option ID = 7507]
4. Bharatpur Bird Sanctuary [Option ID = 7508]

Correct Answer :-
Kangchendzonga National Park [Option ID = 7505]

Renu, Sheena, Heena and Seema are sitting around a table. Renu is just right to the Sheena. Heena is left to Seema. Who amongst
the following facing each other? [Question ID = 1893]

1. Renu – Sheena [Option ID = 7571]
2. Renu – Seema [Option ID = 7570]
3. Sheena – Seema [Option ID = 7569]
4. Heena – Renu [Option ID = 7572]

Correct Answer :-
Renu – Seema [Option ID = 7570]

If B is coded as 2 and RATE is coded as 44 in a code language, how would you code NATION in that code language? [Question ID =
1909]

1. 74 [Option ID = 7635]
2. 75 [Option ID = 7636]
3. 72 [Option ID = 7633]
4. 73 [Option ID = 7634]

Correct Answer :-
73 [Option ID = 7634]

There are two groups of birds. If one bird moves from first group to the second group, the number of birds in the second group
becomes double of the first group. If one bird moves from second group to the first group, the number of birds in both the groups
becomes equal. How many birds were there in group 1 and 2 initially (respectively)? [Question ID = 1916]

1. 9,5 [Option ID = 7661]
2. 5,7 [Option ID = 7664]
3. 7,5 [Option ID = 7662]
4. 5,9 [Option ID = 7663]

Correct Answer :-
5,7 [Option ID = 7664]
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Hari’s commute never bothered him because there were always seats available on the train and he was able to spend 40 minutes
comfortably reading newspapers. Ever since the train schedule changed, the train has become extremely crowded, and by the time the
doors open at his station, there isn’t a seat to be found. Which of the following inference is correct? [Question ID = 1915]

1. Hari’s commute is less comfortable since the train schedule changed [Option ID = 7658]
2. Many commuters will complain about the new train schedule. [Option ID = 7660]
3. Hari is likely to look for a new job closer to his home. [Option ID = 7659]
4. Hari would be better off taking the bus to work. [Option ID = 7657]

Correct Answer :-
Hari’s commute is less comfortable since the train schedule changed [Option ID = 7658]

European Court of Human Rights is located in [Question ID = 1931]

1. Hamburg [Option ID = 7723]
2. Strasbourg [Option ID = 7722]
3. Luxembourg [Option ID = 7721]
4. St. Petersburg [Option ID = 7724]

Correct Answer :-
Strasbourg [Option ID = 7722]

‘Earth Hour’ is a global initiative of the [Question ID = 1884]

1. UN Development Programme [Option ID = 7534]
2. Earth Day Organization [Option ID = 7535]
3. World Wide Fund for Nature [Option ID = 7533]
4. UN Environment Programme [Option ID = 7536]

Correct Answer :-
World Wide Fund for Nature [Option ID = 7533]

 
Codes: [Question ID = 1866]

1.  [Option ID = 7464]

2.  [Option ID = 7461]

3.  [Option ID = 7462]

4.  [Option ID = 7463]

Correct Answer :-

 [Option ID = 7461]

[Question ID = 1929]

1. Only 1 [Option ID = 7713]
2. All of these [Option ID = 7716]
3. 1, 2 and 4 [Option ID = 7714]
4. 1 and 3 [Option ID = 7715]
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Correct Answer :-
1 and 3 [Option ID = 7715]

Who among the following can attend the meetings of both Houses of Parliament while being not a member of either House?
[Question ID = 1928]

1. Solicitor General of India [Option ID = 7710]
2. Attorney General of India [Option ID = 7709]
3. Chief Election Commissioner [Option ID = 7711]
4. Comptroller and Auditor General of India [Option ID = 7712]

Correct Answer :-
Attorney General of India [Option ID = 7709]

Who among the following is known as the ‘Frontier Gandhi’? [Question ID = 1880]

1. Maulana Abul Kalam Azad [Option ID = 7518]
2. Maulana Shaukat Ali [Option ID = 7520]
3. Sir Syed Ahmed Khan [Option ID = 7517]
4. Khan Abdul Ghaffar Khan [Option ID = 7519]

Correct Answer :-
Khan Abdul Ghaffar Khan [Option ID = 7519]

Who among the following was not conferred Bharat Ratna? [Question ID = 1873]

1. Atal Bihari Vajpayee [Option ID = 7489]
2. Nelson Mandela [Option ID = 7490]
3. Homi J. Bhabha [Option ID = 7491]
4. Khan Abdul Ghaffar Khan [Option ID = 7492]

Correct Answer :-
Homi J. Bhabha [Option ID = 7491]

Who among the following was not a member of the Constituent Assembly of India? [Question ID = 1918]

1. Lakshmi Sehgal [Option ID = 7670]
2. Rajkumari Amrit Kaur [Option ID = 7669]
3. Hansa Mehta [Option ID = 7671]
4. Sarojini Naidu [Option ID = 7672]

Correct Answer :-
Lakshmi Sehgal [Option ID = 7670]

Who amongst the following did not serve as the Chairman of the Law Commission of India? [Question ID = 1870]

1. Mr. M.C. Setalvad [Option ID = 7478]
2. Justice B.P. Jeevan Reddy [Option ID = 7480]
3. Justice A.P. Shah [Option ID = 7479]
4. Justice V.R. Krishna Iyer [Option ID = 7477]

Correct Answer :-
Justice V.R. Krishna Iyer [Option ID = 7477]

"Behind the eight ball" means __________. [Question ID = 1852]

1. in safety [Option ID = 7406]
2. in extravagance [Option ID = 7408]
3. in comfort [Option ID = 7407]
4. in trouble [Option ID = 7405]

Correct Answer :-
in trouble [Option ID = 7405]

Who is the author of the book titled “Why I am a Hindu”? [Question ID = 1874]

1. Rakesh Sinha [Option ID = 7493]
2. Shashi Tharoor [Option ID = 7494]
3. Gopal Krishna Gandhi [Option ID = 7495]
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4. Justice R. Banumathi [Option ID = 7496]

Correct Answer :-
Shashi Tharoor [Option ID = 7494]

Inter-state river water disputes in India are to be decided by [Question ID = 1930]

1. Central Water Commission [Option ID = 7717]
2. None of the these [Option ID = 7720]
3. High Courts [Option ID = 7719]
4. Ministry of Water Resources [Option ID = 7718]

Correct Answer :-
None of the these [Option ID = 7720]

What is the meaning of ex facie?

[Question ID = 1917]

1. Making the face down [Option ID = 7668]
2. Beside the face of it [Option ID = 7667]
3. Behind the face it [Option ID = 7665]
4. On the face of it [Option ID = 7666]

Correct Answer :-
On the face of it [Option ID = 7666]

Who proposed the idea of Constituent Assembly of India in 1934? [Question ID = 1869]

1. Dr. B.R. Ambedkar [Option ID = 7473]
2. S.N. Mukherjee [Option ID = 7475]
3. Dr. Rajendra Prasad [Option ID = 7474]
4. M.N. Roy [Option ID = 7476]

Correct Answer :-
M.N. Roy [Option ID = 7476]

Which of the following is explicitly prescribed as a Directive Principle of State Policy under the Constitution of India? [Question ID =
1936]

1. All of the these [Option ID = 7744]
2. Promotion of co-operative societies [Option ID = 7743]
3. Participation of workers in management of industries [Option ID = 7742]
4. Organisation of village panchayats [Option ID = 7741]

Correct Answer :-
All of the these [Option ID = 7744]

Which of the following rivers does not flow into the Bay of Bengal? [Question ID = 1889]

1. Godavari [Option ID = 7553]
2. Periyar [Option ID = 7556]
3. Kaveri [Option ID = 7554]
4. Krishna [Option ID = 7555]

Correct Answer :-
Periyar [Option ID = 7556]

Which of the following smart cities has become the India’s first city to run on 100% Renewable Energy during Daytime? [Question ID
= 1886]

1. Chandigarh [Option ID = 7542]
2. Puducherri [Option ID = 7541]
3. Gwalior [Option ID = 7543]
4. Diu [Option ID = 7544]

Correct Answer :-
Diu [Option ID = 7544]
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Which of the following does not fall in the List I—Union List of the Seventh Schedule to Constitution of India? [Question ID = 1939]

1. Naval, military and air force works [Option ID = 7753]
2. Public health and sanitation [Option ID = 7755]
3. Sanctioning of cinematograph films for exhibition [Option ID = 7754]
4. Banking [Option ID = 7756]

Correct Answer :-
Public health and sanitation [Option ID = 7755]

Which of the following is not placed at Hague? [Question ID = 1868]

1. Permanent Court of Arbitration [Option ID = 7470]
2. International Tribunal for the Law of the Sea [Option ID = 7471]
3. International Court of Justice [Option ID = 7469]
4. International Criminal Court [Option ID = 7472]

Correct Answer :-
International Tribunal for the Law of the Sea [Option ID = 7471]

Which of the following is not a Fundamental Duty under Article 51A of the Constitution of India? [Question ID = 1937]

1. To value and preserve the rich heritage of our composite culture [Option ID = 7746]
2. To safeguard public property and to abjure violence [Option ID = 7745]
3. To respect and propagate political values [Option ID = 7747]
4. To cherish and follow the noble ideals which inspired our national struggle for Freedom [Option ID = 7748]

Correct Answer :-
To respect and propagate political values [Option ID = 7747]

Which of the following statement best explains the phrase ‘Devil’s Advocate’? [Question ID = 1851]

1. Expressing contentious opinion [Option ID = 7402]
2. Expressing discontentment [Option ID = 7404]
3. Arguing for the sake of argument [Option ID = 7403]
4. Arguing for the guilty [Option ID = 7401]

Correct Answer :-
Expressing contentious opinion [Option ID = 7402]

Which of the following fundamental right is not available to a foreigner in India? [Question ID = 1938]

1. Freedom of Speech and Expression [Option ID = 7751]
2. Right to Life and Liberty [Option ID = 7750]
3. Right to equality [Option ID = 7749]
4. Right against Ex post facto laws [Option ID = 7752]

Correct Answer :-
Freedom of Speech and Expression [Option ID = 7751]

In the following question, there is a certain relation between two given words on one side:: Choose the suitable words to be put on
the other side from the given alternatives.

  
Glutton : Willpower :: __________ : __________

[Question ID = 1858]

1. Platoon : Squad [Option ID = 7430]
2. Charlatan : Hoax [Option ID = 7429]
3. Savant : Gumption [Option ID = 7431]
4. Coward : Courage [Option ID = 7432]

Correct Answer :-
Coward : Courage [Option ID = 7432]

In the following question, there is a certain relation between two given words on one side:: Choose the suitable word to be put on the
other side from the given alternatives.

  
Inflexible: Limber :: Failure: __________
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[Question ID = 1857]

1. Achievement [Option ID = 7425]
2. Expunge [Option ID = 7427]
3. Trouble [Option ID = 7426]
4. Murmur [Option ID = 7428]

Correct Answer :-
Achievement [Option ID = 7425]

Find out which part of the sentence given below has an error:

 
Demi has not completed her homework, isn’t it?

[Question ID = 1861]

1. her homework [Option ID = 7442]
2. No fault [Option ID = 7444]
3. isn’t it [Option ID = 7443]
4. has not completed [Option ID = 7441]

Correct Answer :-
isn’t it [Option ID = 7443]

Find out which part of the sentence given below has an error:

 
My Mother asked me that what I was doing.

[Question ID = 1862]

1. that what I was doing [Option ID = 7447]
2. asked me [Option ID = 7446]
3. My mother [Option ID = 7445]
4. No fault [Option ID = 7448]

Correct Answer :-
that what I was doing [Option ID = 7447]

Choose the correct inference:

 
People who are bald are generally happy. Asif is bald. Therefore, Asif is happy.

[Question ID = 1903]

1. Can’t be determined [Option ID = 7612]
2. False [Option ID = 7610]
3. Probably true [Option ID = 7611]
4. True [Option ID = 7609]

Correct Answer :-
Probably true [Option ID = 7611]

Choose the correct inference:

 
The presence of calcium in milk makes it white. Egg is white. Therefore, egg also contains calcium:

[Question ID = 1902]

1. TRUE [Option ID = 7605]
2. Can’t be determined [Option ID = 7608]
3. FALSE [Option ID = 7606]
4. Probably true [Option ID = 7607]

Correct Answer :-
Can’t be determined [Option ID = 7608]
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Choose the correct inference:

 
 Identify the odd one out

[Question ID = 1905]

1. Tree [Option ID = 7617]
2. Leaf [Option ID = 7618]
3. Branch [Option ID = 7619]
4. Stem [Option ID = 7620]

Correct Answer :-
Tree [Option ID = 7617]

Choose the correct inference:

 
   Identify the odd one out

[Question ID = 1904]

1. RAM = 18113 [Option ID = 7614]
2. SUA = 19201 [Option ID = 7616]
3. HOP = 81516 [Option ID = 7613]
4. MAP = 13115 [Option ID = 7615]

Correct Answer :-

Choose the correct collective noun:

 

A ______ of ships

[Question ID = 1855]

1. Army [Option ID = 7418]
2. Fleet [Option ID = 7420]
3. Belt [Option ID = 7417]
4. Pack [Option ID = 7419]

Correct Answer :-
Fleet [Option ID = 7420]

Choose the correct collective noun:
  

A ________ of baboons

[Question ID = 1854]

1. Herd [Option ID = 7415]
2. Congress [Option ID = 7413]
3. Pack [Option ID = 7414]
4. Meeting [Option ID = 7416]

Correct Answer :-
Congress [Option ID = 7413]

Choose the word that is nearest in meaning to the given word:

 

Abrogate

[Question ID = 1863]

1. Revoke informally [Option ID = 7452]
2. Revoke formally [Option ID = 7450]
3. Accept informally [Option ID = 7451]
4. Accept formally [Option ID = 7449]

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.F
irs

tR
an

ke
r.c

om

69)  

70)  

71)  

72)  

73)  

Correct Answer :-
Revoke formally [Option ID = 7450]

Choose the word that is nearest in meaning to the given word:

 
Extol

[Question ID = 1864]

1. Glorify [Option ID = 7453]
2. Dishonour [Option ID = 7454]
3. Provoke [Option ID = 7455]
4. Announce [Option ID = 7456]

Correct Answer :-
Glorify [Option ID = 7453]

Choose the most appropriate option to fill in the blanks: 

 
I have never seen _____ painting before.

[Question ID = 1860]

1. as beautiful [Option ID = 7439]
2. so beautiful [Option ID = 7437]
3. such a beautiful [Option ID = 7438]
4. any beautiful [Option ID = 7440]

Correct Answer :-
such a beautiful [Option ID = 7438]

Choose the most appropriate option to fill in the blanks: 

 

They ______ learning classical music next year

[Question ID = 1859]

1. will have been [Option ID = 7436]
2. will be [Option ID = 7433]
3. will [Option ID = 7435]
4. will have to [Option ID = 7434]

Correct Answer :-
will be [Option ID = 7433]

Fill in the missing word:

 
Insect: Disease :: War:?

[Question ID = 1906]

1. Army [Option ID = 7621]
2. Victory [Option ID = 7624]
3. Destruction [Option ID = 7622]
4. Weapon [Option ID = 7623]

Correct Answer :-
Destruction [Option ID = 7622]

Fill in the missing word:

 
Distance : Metre :: Force : ?
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[Question ID = 1907]

1. Dioptre [Option ID = 7628]
2. Joule [Option ID = 7625]
3. Watt [Option ID = 7626]
4. Newton [Option ID = 7627]

Correct Answer :-
Newton [Option ID = 7627]

Arrange the words given below in a meaningful sequence:
  

  1. Chaitra 2. Falgun 3. Magh 4. Bhadrapad 5. Aashadh

[Question ID = 1913]

1. 1,2,5,4,3 [Option ID = 7652]
2. 1,2,3,4,5 [Option ID = 7649]
3. 1,3,4,2,5 [Option ID = 7651]
4. 1,5,4,3,2 [Option ID = 7650]

Correct Answer :-
1,5,4,3,2 [Option ID = 7650]

Statements: In a one day cricket match, the total runs made by a team were 300. Out of these 240 runs were made by bowlers.
  

Conclusions:
 I) The opening batsmen were bowlers.

 II) 80% of the team consists of bowlers.

[Question ID = 1914]

1. Both Conclusions I and II follow [Option ID = 7655]
2. Neither Conclusion I nor II follows [Option ID = 7656]
3. Only Conclusion II follows [Option ID = 7654]
4. Only Conclusion I follows [Option ID = 7653]

Correct Answer :-
Neither Conclusion I nor II follows [Option ID = 7656]

Complete the series:

 

BAY, EDV, HGS, KJP, _____

[Question ID = 1899]

1. NMQ [Option ID = 7595]
2. NMP [Option ID = 7593]
3. NMM [Option ID = 7596]
4. NMO [Option ID = 7594]

Correct Answer :-
NMM [Option ID = 7596]

Complete the series:

 
REF, SGH,     ______, UKL

[Question ID = 1898]

1. TIJ [Option ID = 7590]
2. VJT [Option ID = 7592]
3. MNT [Option ID = 7591]
4. VXZ [Option ID = 7589]

Correct Answer :-
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TIJ [Option ID = 7590]

Complete the series:

 
BCB, DED, FGF, HIH, ____

[Question ID = 1896]

1. IJI [Option ID = 7583]
2. JHJ [Option ID = 7584]
3. JKJ [Option ID = 7581]
4. HJH [Option ID = 7582]

Correct Answer :-
JKJ [Option ID = 7581]

Complete the series:

 
53, 53, 40, 40, 27, 27, ____

[Question ID = 1895]

1. 12 [Option ID = 7577]
2. 14 [Option ID = 7578]
3. 53 [Option ID = 7580]
4. 27 [Option ID = 7579]

Correct Answer :-
14 [Option ID = 7578]

Complete the series:

 
E64, _____, K16, N8, Q4

[Question ID = 1901]

1. H32 [Option ID = 7603]
2. G23 [Option ID = 7602]
3. F32 [Option ID = 7601]
4. J23 [Option ID = 7604]

Correct Answer :-
H32 [Option ID = 7603]

Complete the series:

 
70, 68, 66, 63, 61, 59, 56, 54, _______.

[Question ID = 1900]

1. 52 [Option ID = 7599]
2. 51 [Option ID = 7598]
3. 50 [Option ID = 7597]
4. 53 [Option ID = 7600]

Correct Answer :-
52 [Option ID = 7599]

Complete the series:

 
192, 48,       _____, 3

[Question ID = 1897]

1. 11 [Option ID = 7588]
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2. 13 [Option ID = 7586]
3. 12 [Option ID = 7587]
4. 14 [Option ID = 7585]

Correct Answer :-
12 [Option ID = 7587]

Apply the principle to the facts and choose the most appropriate option:

 
Principle 1: When a person voluntarily consents to infliction of some harm upon himself/herself, he/she cannot complain for the harm
suffered and his/her consent acts as a good defence against him/her.

Principle 2: The consent may be express or implied.

 
Facts: The plaintiff was a spectator at Formula One Car race. Despite due care by the organisers, there was a collision between two cars
during the race and one of the cars was thrown among the audience, gravely injuring Hasan. Hasan was paralysed waist down due to this
injury.

  
Decision:

[Question ID = 1945]

1. Organisers are liable to compensate Hasan as even though he agreed to take the risk of being injured, he did not agree to be paralysed. [Option ID =
7780]

2. Organisers are liable to compensate Hasan as he did not expressly consent to being gravely injured. [Option ID = 7779]
3. Organisers are liable to compensate Hasan for the harm caused to him, as he did not voluntarily agree to be gravely injured. [Option ID = 7777]
4. Organisers are not liable to compensate as Hasan impliedly took the risk of injury. The danger of car collision is inherent in Formula 1 Car Race. The

possibility of spectators being injured by such collision is foreseeable. [Option ID = 7778]

Correct Answer :-
Organisers are not liable to compensate as Hasan impliedly took the risk of injury. The danger of car collision is inherent in Formula 1 Car Race. The
possibility of spectators being injured by such collision is foreseeable. [Option ID = 7778]

Apply the principle to the facts and choose the most appropriate option:

 

 
Principle: If the offeror has prescribed a particular mode or manner of acceptance, the acceptance must be made in the prescribed manner
only. In the event of the acceptor not following the prescribed mode of acceptance, no valid contract comes into existence.

 
Facts: Arora Enterprises made an offer to buy desks from Bharucha Co. Ltd. According to the terms of the contract, the acceptance was to
be made thorugh e-mail. Bharucha Co. and Ltd. sent the acceptance through post. Arora Enterprises received this letter but entered into
contract with Abdulla Enterprises. Bharucha Co. Ltd. sued Arora Enterprises for breach of contract.

  
Decision:

[Question ID = 1944]

1. Bharucha Co. Ltd can successfully sue Arora Enterprises as it has conveyed its acceptance and fulfilled essential conditions required by contract. [Option
ID = 7773]

2. Arora Enterprises can be sued as it entered into contract with Abdulla Enterprises after receiving the acceptance of Bharucha Co. Ltd. [Option ID = 7776]
3. Arora Enterprises cannot be sued, as the acceptance was invalid. [Option ID = 7774]
4. The acceptance is valid as what is necessary is that the acceptance must reach the offeror. [Option ID = 7775]

Correct Answer :-
Arora Enterprises cannot be sued, as the acceptance was invalid. [Option ID = 7774]

Apply the principle to the facts and choose the most appropriate option:

 

 
Principle: A contract to do an act, which, after the contract is made becomes impossible is void when the act becomes impossible.

 

Facts: Sheela owned a two storey building. She agreed to lease the property to Harleen for a period of 1 year for a rent of fifty thousand
rupees per month. The contract was signed by both the parties on April 30, 2015. It was agreed that the lease period would start from
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May 5, 2015. On May 3, 2015, a massive fire broke out and the building was completely destroyed.
  

Decision:

[Question ID = 1946]

1. The contract is void as the subject matter of the contract has ceased to exist. [Option ID = 7781]
2. The contract is void as the fire broke out two days before the start of the lease period. [Option ID = 7784]
3. The contract is valid as the performance of the contract does not depend on the existence of the subject matter of contract, i.e. the building. [Option ID =

7783]
4. The contract is valid as it was already signed before the fire broke out. [Option ID = 7782]

Correct Answer :-
The contract is void as the subject matter of the contract has ceased to exist. [Option ID = 7781]

Apply the principle to the facts and choose the most appropriate option:

 

Principle: Unreasonable interference with a person’s use or enjoyment of land constitutes nuisance.

 
Facts: A brick grinding machine was installed by Mihir adjoining the premises of George who was a medical practitioner. The dust from the
machine used to enter George’s medical chamber and cause inconvenience to the patients.

 
Decision:

[Question ID = 1943]

1. George cannot sue Mihir for nuisance as every nuisance is not inconvenience. [Option ID = 7772]
2. George cannot sue Mihir for nuisance as Mihir has a right to use his property as he deems fit. [Option ID = 7769]
3. George cannot sue Mihir for nuisance as the use of land by George was not illegal. [Option ID = 7770]
4. George can sue Mihir for nuisance as the dust interfered with the physical comfort of George and his patients. [Option ID = 7771]

Correct Answer :-
George can sue Mihir for nuisance as the dust interfered with the physical comfort of George and his patients. [Option ID = 7771]

One who studies elections and trends in voting is known as: [Question ID = 1856]

1. Demagogue [Option ID = 7423]
2. Odontologist [Option ID = 7424]
3. Psephologist [Option ID = 7422]
4. Numismatic [Option ID = 7421]

Correct Answer :-
Psephologist [Option ID = 7422]

Right to Property is a

[Question ID = 1942]

1. Fundamental Right [Option ID = 7765]
2. Not recognized in India [Option ID = 7767]
3. None of these [Option ID = 7768]
4. Legal Right [Option ID = 7766]

Correct Answer :-
Legal Right [Option ID = 7766]

‘Operation Cactus’ recently in the news refers to [Question ID = 1876]

1. Indian army’s cross border strike in Myanmar [Option ID = 7503]
2. India’s nuclear project in Pokhran [Option ID = 7504]
3. India’s military intervention in Maldives in 1988 [Option ID = 7502]
4. India’s Surgical Strikes on terror launch pads in PoK in 2016 [Option ID = 7501]

Correct Answer :-
India’s military intervention in Maldives in 1988 [Option ID = 7502]
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Recently the UN General Assembly passed a resolution rejecting the Israeli claim of Jerusalem as its new capital. Which among the
following countries voted against the resolution to support the Israeli claim? [Question ID = 1875]

1. Guatemala [Option ID = 7497]
2. India [Option ID = 7499]
3. Cuba [Option ID = 7498]
4. Sri Lanka [Option ID = 7500]

Correct Answer :-
Guatemala [Option ID = 7497]

Fundamental Duties were added in the Constitution of India on the recommendation of [Question ID = 1932]

1. Malimath Committee [Option ID = 7726]
2. Santhanam Committee [Option ID = 7727]
3. Sarkaria Committee [Option ID = 7728]
4. Swaran Singh Committee [Option ID = 7725]

Correct Answer :-
Swaran Singh Committee [Option ID = 7725]

Murugappa Gold Cup is related to which of the following sports? [Question ID = 1882]

1. Wrestling [Option ID = 7527]
2. Swimming [Option ID = 7528]
3. Kabaddi [Option ID = 7525]
4. Hockey [Option ID = 7526]

Correct Answer :-
Hockey [Option ID = 7526]

The President of India can be impeached on the ground of

[Question ID = 1924]

1. Both Violation of the Constitution of India and Proved misbehaviour or incapacity [Option ID = 7695]
2. Proved misbehaviour or incapacity [Option ID = 7694]
3. Violation of the Constitution of India [Option ID = 7693]
4. None of these [Option ID = 7696]

Correct Answer :-
Violation of the Constitution of India [Option ID = 7693]

The Vice-President of India may be removed from his office by

[Question ID = 1920]

1. Resolution of the House of the People and duly approved by President. [Option ID = 7680]
2. Resolution of the Council of States and agreed to by the House of the People. [Option ID = 7678]
3. Resolution of the Council of States only. [Option ID = 7679]
4. The President of India upon the advice of the Council of Ministers. [Option ID = 7677]

Correct Answer :-
Resolution of the Council of States and agreed to by the House of the People. [Option ID = 7678]

As per the XIV Finance Commission Report how much is the State Governments' share in taxes? [Question ID = 1925]

1. 42% [Option ID = 7699]
2. 40% [Option ID = 7697]
3. 41% [Option ID = 7698]
4. 44% [Option ID = 7700]

Correct Answer :-
42% [Option ID = 7699]

Under the ‘Adopt a Heritage’ project, which corporate house has signed MoU to maintain historic site “Red Fort”? [Question ID =
1885]

1. Larsen & Tourbo [Option ID = 7537]
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2. Dalmia Bharat Ltd. [Option ID = 7539]
3. Tata Motors [Option ID = 7540]
4. Tata Consultancy Services [Option ID = 7538]

Correct Answer :-
Dalmia Bharat Ltd. [Option ID = 7539]
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